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**Question 1**
A short piece of DNA 19 base pairs long was analysed to find the number of nucleotide bases in each of

the polynucleotide strands. Some of the results are shown below.

How many nucleotides containing adenine (A) were present in strand 2?

A. 2

B. 4

C. 6

D. 8

[1 mark]

**Question 2**
Which of the following would be a result of analysing a DNA molecule?

A. An equal ratio of pentose sugars to phosphates and an equal ratio of thymine to adenine bases.

B. Twice as many pentose sugars as phosphates and an equal ratio of guanine to cytosine bases.

C. An equal ratio of hexose sugars to phosphates and an equal ratio of thymine to cytosine bases.

D. Twice as many hexose sugars as phosphates and an equal ratio of guanine to adenine bases.

[1 mark]

**Question 3**
DNA is described as a double-helix, antiparallel structure. Which of the following statements best explains

the term,

'antiparallel'?

A. One strand possesses deoxyribose sugar,the opposite strand possesses ribose sugars.

B. The nitrogenous bases invert their orientation on the sense strand versus the antisense strand.

C. The alignment of the sugar-phosphate backbone of each strand runs in opposite directions.

D. The alignment of the two strands of nucleotides runs in opposite directions.

[1 mark]
**Question 4**
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The approximate angle of orientation ('twist') of one nucleotide in respect to its neighbouring nucleotide in a

given strand

of DNA is between 35 and 40 degrees. How many base pairs are required for the double-helix to twist by

one whole turn?

A. 5

B. 8

C.10

D.12

[1 mark]

**Question 5**
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**Question 6**
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**Question 7**

How many mistakes are there in this diagram?

A. 0

B.1

C. 3

D. 5

[1 mark]

For more help visit our website https://www.exampaperspractice.co.uk/

https://www.exampaperspractice.co.uk/


**Question 8**

**Question 9**
Which of the following statements about the genetic code are correct?.

I. A single DNA base will always be transcribed and translated in eukaryotic organisms.

II. A single DNA base can be part of genes that overlap each other.

III. The genetic code allows multiple triplet codons to code for a single amino acid.

IV. The genetic code in a eukaryotic organism's genome stays the same throughout the organism's life.

A.III only

B.I and IV

C.I, II and III

D.III and IV

[1 mark]
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**Question 10**
Which of the following are correct statements about nucleosomes?

I. They contain histone proteins

II. They help supercoil the DNA to form a compact structure

III. They are found in both eukaryotes and prokaryotes

IV. They consist of both DNA and chromatin

A.I only

B.I and II

C.I, II and III

D.I, II and IV

[1 mark]

**Question 11**

[1 mark]
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**Question 12**
Molecular visualisation software can be used to look at the three-dimensional structure of complex

macromolecules such

as the nucleosome.

Which of the following statements about molecular visualisation software are correct?

I. Can help relate structure to chemical or biological behavior.

II. Can support the design of pharmaceutically active compounds.

III. Can be used to study the interactions between proteins.

IV. Is primarily used to identify if a DNA sequence encodes for a gene.

A.I and II

B.I, II and III

C.I and IV

D.I, II, III and IV

[1 mark]
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